#MINZ / Components
BT =H)LT—%4 / Technical Datall No. TR / Part name #E / Pcs #8 / Material £ - RELEE / Color-Finish
a—F—Javy FILEE A ¥R ADC12 DIN—, TSy B (REELE)
#ifHIL7 / Recommended torque ! Corner block 4 Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
M2.5 : 0.156N*m ~ 0.2N-m 9 IR ) TILSHRHH A6063S-T5 DILR—- B (REMRALIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
M3. M4 : 0.3N"m ~ 0.6N"m IL—L 7 LS AG063S-T5 O N—- i (REREALIE)
8 Panel support frame 4 Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
. At 912 ) 7ILE4R A1100P DILN— B (REEENE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 Hii— ; T ILEHR A1100P DIN— B (REFELE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 Thi— | T ILEAR A1100P DILN— B (RESELE)
] Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
=PN TPE (Z5RMR) 7399
7 Ruber feet 4 TPE (Elastomer) Black
TR FIE& YT L DILIR—TIIA+ & T5vY
Aluminium feet Aluminium & Silicone Silver-Anodized & Black
8 HRAFE R (IMM3 x 8) 16 53 YTV AYF
Screw (Flat head M3 - 8) Steel Nickel plated
9 IMFER (M3 x 5) 8 % =T AyF
Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 BWAFER (/31 FM4 x 8) ‘ % ZffRI0A—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
" BAFER GETRLLFAM25x 7) 8 &% SV AF
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

B / Product Number

AUP |

Hti%&

H dimension

W&

W dimension

RB1L#% / Feet specification

Dtk

D dimension

BR/A
Feet (R or A)

EX (P/H)

Screw (P or H)

L R4E# / Original trapezoid head screw specification

B

Color Type

@30

10

® b

© @

E LR / Rubber feet

FILZRE / Aluminium feet

[P] 75 / Phillips

75A / Hexagon—socket

ARESLUAH T DHAROEFEGHRRAUSHTFERTRITRELES. / Copyright (C) TAKACH ELECTRONICS ENCLOSURE CO., LTD. AN Rights Reserved.

B {L#k / Color Type % /Title A
O =5 o N - s (@} |
i85 / Code | 3—4—TJ 0% / Corner block {81#R / Frame IS / Panel $173— / Top cover F#H/3— / Bottom cover TAKACHI| #HASHINFERTIE INRILERFBETILE Yy r—R \/) |
S S < )L1N— / Silver < JLsN— / Silver < )JLsN— / Silver < )LsN— / Silver < )LsS— / Silver TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS R 5en
S B J59% / Black 2 )Ls3— / Silver SILiN—/ Siver | SJLs3— / Silver 2 JLs3— / Silver 7 38/Approved | 18/ Checked WR/Created | Z%/Product number =/ ede
AUP88-16-301 -0 _
iR x r#t N=T/Page
1ERL B /Date 2022/12/28 1717




D view

B-B(1:4)

113

253

E view

A view

88+0.3

F view

/o o)
T T
\* D)
160+ 0.5

= A
Ml
NI

= A

N

\

Y

&

15

C view

A-A(1:4)

286

300+ 0.5

C-G(1:4)

66

153

B view

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4/ Title
ISRILBRBET LI Yy —2R
ALUMINIUM ENCLOSURE with DETACHABLE PANELS

o]

2 /Approved #&[X/Checked X /Created FIF /Product number RE/Scale
AUP88-16-3000-000 _
iR ES Eaza) R—/Page
1ERLH/Date 2022/08/10 2 /17




C fAl#x / C Frame

250

87

80.7

XM / Front side

D {8l#% / D Frame

R / Front side

22.5

25

33

33

251 / Back side

I-‘ 7
& 9
5 2-M3AH SR
2-M3 Countersunk
% RxIEBE4E / Same on the other side.
|.(\ 7
o o

221 / Back side

m#/Title
BREUINTFEMTE %ﬁlmi O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - D300 125
iR ES Eaza) N—/Page
1ERLH/Date 2022/07/20 3 /717




16

225

86

ggg—g ©
Y/ ©
2-M2.5
110 5.5 10.5
©
<
— ™
5 5 3 3.3
2-M3RAH I
2-M3 Countersunk
ET47K / Total 4 pieces
Mm%/ Title
TAKACHI] BX&#shFEHITE SL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
= = s T RE/Scale
K ER/Approved #R[X/Checked H[X|/Created 1% /Product number
W160 1.51
iR E B4 RS /Pase
{ERE /Date 2022/08/08 4 /1




A /N2RJL / A Panel

109.5
[5) [5)
A4 L
'
~
&> 1)
L &7 L

BH#~Fi% / Max dim. 102+£0.3

XM / Front side

B /A% JL / B Panel

(D) (&)

\ 4 A4

o Iy
L7 £ |

K / Front side

A3 T / Max dim. 54.6+0.3

4-M25FAFINRY—T
4-Metal sleeve for M2.5

3.5 2 86

67.5

RS — A

Surface protective film side

251 / Back side

fREEL — A

Surface protective film side

221 / Back side

S/ Title
TAKACHI| ¥X&suahFEHIE ISR
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel

o]

7R/ Approved #&[X/Checked X /Created FIF /Product number

H88 — W160
iR x A

RE/Scale
1:2

YERL B /Date 2022/08/08

~R—/Page

5/ 17




149.4

4-R14.7 4-@45
130 2

AT / Max dim. 253+ 0.5

<
3 o

& &
RE—HMA
Surface protective film side

e @] (0] o}
B TiE / Max dim. 113+ 0.3
R / Front side 2@ / Back side

S/ Title
BREUINTFEMTE $1— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W160 - D300 _ 12
iR E 520 R=S/Page
YERL B /Date 2022/07/20 6 / 7




149.4

130

101.4

4-R14.7
o
/
< <
I
N N N

R / Front side

BHxh~Tik / Max dim.

113+£03

<ti% / Max dim. 253+ 0.5

2

=]

4-45

2
o] O
~» ”
RE—HMA
Surface protective film side
[¢] [o]
ZEME / Back side
R4/ Title
TAKACHI] #R&itshFEMTE Thri— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W160 - D300 12
iR T (320 NT/Page
{ER B /Date 2022/07/20 77/ 17






